Day 7 - Cones after.notebook

Questions From Homework
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Jack is headed south at 60 km/h towards JMH and Jill is headed west
towards the school at 50 km/h. At what rate is the distance between them
closing when Jack is 2 km and Jill is 3 km from the school?

(Hint: draw a diagram)
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A water tank is built in the shape of a circular cone with height 5 m and
diameter 6 m at the top. Water is being pumped into the tank at a rate of
1.6 m*/min. Find the rate at which the water level is rising when the water
is 2 m deep?

Let ¥ be the volume of the water and let 7 and s be theradius ofthe surface
and the height at time ¢, wheret is measured in minutes. Weare given the rate of
increase of ¥, thatis:
4V 1 6m® fmin
Jeis
dh

‘We areasked to find i whenk = 2m.
The quantities and & arerelated by the equation:

1
V="mh

3
Butwehave to express Vas a function of 2 alone. To eliminate r we look for

arelationshipbetweenrand h. We use similar triangles in the figure to write.
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A kite 40 m above the ground moves hotizontally at a rate of 3 m/s. At what rate is
the angle between the string and the horizontal decreasing when 80 m of string is let
out?
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A kite 40 m above the ground moves horizontally at a rate
of 3 m/s. At what rate is the angle between the string and
the horizontal decreasing when 80 m of string is let out?
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A car passes directly under a police helicopter 150 m above a straight and level
highway. After the car has travelled another 20.0 m, the angle of depression of the car
from the helicopter is decreasing at the rate of 0.215 rad/s. what is the speed of the

car?

O™

Xay= 2°

P > =)
20 + =72
YOO+ 3d00=-2

D400 = {

o ¢ W\A cosae .

tos O = %}‘j

cosae—_ X}

Za
2

s 0= Hoo
3300

(.OSS Y
83"\

(osaB = Q.0\15

X \S

-
MG‘A/S "o‘\@: \_':)_‘_O/ c ‘\3“\

>

{2,,(\9 = 190% '

%O dD _ -\sox dx
&t

kS

B 1/ s
\ 2&%?%

=\t

S0\ - (o.onS)QSo\ﬁL&)
noo Ak

-0 = -0.0060 dx

2.6 cv\,S ~ dx
w.&\m\ o @cuakr
,‘3820 (ﬂ_\( \SO

%\@%

300
-4 L3 Ax
o0

Yy dv

oo
B AR L 9w
)“’6 AL
Tl = dx

300




Day 7 - Cones after.notebook

March 09, 2020

A car passes directly under a police helicopter 150 m above
a straight and level highway. After the car has travelled
another 20.0 m, the angle of depression of the car from

the helicopter is decreasing at the rate of 0.215 rad/s. what
is the speed of the car?
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A searchlight is 225 m from a straight wall. As the beam moves along the wall, the angle

between the beam and the perpendicular to the wall is increasing at the rate of 1.5° /s.

How fast is the length of the beam increasing when it is 315 m long?

‘)6 = 0,0%\3(@35 ,S

L

W) ?\(\A 8 hon Zfé\s

= s (%

9-0.N%\4 cods

s = 295 e ZC\"“S*‘S‘“}
2

@O = 9352

~sn©O 0 - —6351/3 de

K

om0 4O - -205 d.
o1y 22 dt

' %‘2 QQ( m)(ﬁ(

-aas 3
mmmq 3\5

0. \$ =
o

A.036\ - ( \,qa&%ﬂ (-0,0009 >%—¥

0.03\% = O ODY 2

: !

O% mIS - AZ
It




Day 7 - Cones after.notebook

A searchlight is 225 m from a straight wall. As the beam

moves along the wall, the angle between the beam and the
perpendicular to the wall is increasing at the rate of 1.5° /s.
How fast the length of the beam increasing when is 315 m
long?

@s®- 999

X
©s0= 9%
O- cos ¥ ‘)

0.0018= ' ,-35 |
\- 3,35_3 A9 &t
2)
[}
000618 - - | 5 Iy
Ji-wes ARs &
oo wa
0036\% = -\ “J_.J*
Jou» wy dt
3y
00218 = -1 -1 4y
NI (RS
49
0003 - -t -1, Jdx
_,\EL 4ar gt

0. = A L L
4w oC
o6 ©5

0.006\8 = '

26§ 6

EEEY

March 09, 2020



Day 7 - Cones after.notebook

Homework

March 09, 2020

10



	Page 1: Mar 9-9:28 AM
	Page 2: 2
	Page 3: 3
	Page 4: Feb 26-3:23 PM
	Page 5: Mar 9-11:28 AM
	Page 6: Feb 26-3:23 PM
	Page 7: Mar 9-11:28 AM
	Page 8: Feb 26-3:23 PM
	Page 9: Mar 9-11:29 AM
	Page 10: 4

